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1) Give the general classification of each of the following reduction methods

a) C + NiO = Ni + CO



b) TiCl4 + 2Mg = Ti + 2MgCl​2



c) WO3 + 3H2 = W + 3H2O



d) (Cu,xFe,yS) + (x/2+y)O2 = Cu + xFeO + ySO2 



e) 2Al+++ + 6e- = 2Al  while 3O2- = 1.5O2 + 6e-



2)
What is the slope of the ZnO-ZnS line on a stability diagram of Log PSO2vs Log PO2? 

3)
What is the slope of a line of constant SO2 pressure on a stability diagram of Log PSO3 vs  Log PO2?


NOTE PSO3vs Log O2  NOT PSO2 vs Log O2
4) Draw a silica network and show what effect the addition of a basic component has on it. 

5)
On predominance diagram of the M-O-Cl system where LogPCl2 is plotted vs Log PO2, 

Sketch the approximate locations of the following condensed compounds 


M, MO, MO2, MOCl, MCl2, MOCl2
6)
The roaster diagram for the Pb-O-S system would look like the sketch below.  Write the three equations that would fix the position of the PbSO4/PbO•4PbSO4  line on the roaster diagram below. 
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